Economics 101

Fall 2004

Practice Questions 8

Topics Covered:  Perfect Competition and Monopoly

1. Which of the following statements about perfect competition is false? 
a. in the short run, the number of firms in the industry is fixed.

b. all firms in the industry produce a standardized product.
c. each firm chooses the price at which it will sell its output.
d. for each firm, marginal revenue is the same as the market price.
e. there are no significant barriers to entry or exit in the long run, that is, firms are free to enter or exit this perfectly competitive industry in the long run.
Answer:  C.  In perfect competition firms are price takers taking the market price as the price they can sell their identical (standardized) product for.  In the short run there is a fixed number of firms (no entry or exit in the short run) and in the long run firms are free to enter or exit the industry.
2. For a competitive firm, profit per unit of output is equal to:
a. P – ATC

b. MC – ATC

c. TR – TC

d. P – AVC

e. MR – MC

 Answer:  A. Profit per unit of output is simply the difference between the price the firm sells the good for minus the cost per unit of output (the ATC).  Answer B is also correct since for a perfectly competitive firm they produce that quantity where MR = MC and since MR = P therefore MC = P as well.
3. In a competitive industry, a rightward shift of the market demand curve will cause:
a. positive economic profit for each firm in the long run.
b. negative economic profit for each firm in the long run.
c. positive economic profit for each firm in the short run, and entry into the industry in the long run.

d. positive economic profit for each firm in the short run, and exit from ths industry in the long run.

e. negative economic profit for each firm in the short run., and entry into the industry in the long run.

Answer:  C. The rightward shift in the market demand curve raises the equilibrium price in the industry and results in short run positive economic profit.  In the long run, new firms will enter the industry resulting in a rightward shift of the market supply curve, a decrease in the equilibrium price 
4. When a restaurant stays open for lunch service even though few customers patronize the restaurant for lunch, which of the following principles is best demonstrated? 
i. fixed costs are sunk in the short run
ii. in the short run, only fixed costs are important to the decision to stay open for lunch.
iii. if revenue exceeds variable cost, the restaurant owner is making a good decision to remain open for lunch.
a. (iii) is the only correct statement
b. (i) and (ii) are the only correct statements

c. (ii) and (iii) are all correct statements

d. (i) and (iii) are the only correct statements

Answer:  D. Fixed costs are sunk in the short run (you can’t do anything about them) and so as long as the restaurant covers their variable cost it is worth being open (iii).
5. Which of these curves is the competitive firm’s supply curve? 
a. The AVC curve above the MC curve

b. The ATC curve above the MC curve
c. The MC curve above the AVC curve

d. The AFC curve

Answer:  C. Check your class notes.
6. The exit of existing firms in the long run from a competitive market will: 
a. decrease market supply and increase market prices.
b. decrease market demand and decrease market prices.
c. increase market supply and increase market prices.
d. increase market supply and decrease market prices.
Answer:  A. When firms exit the industry in the long run, this causes the market supply curve to shift to the left which results in the equilibrium market price increasing for a given demand curve.
7. When a single firm can supply a product to an entire market at a smaller cost than could two or more firms, the industry is called a(n)
a. oligopoly
b. exclusive industry

c. duopoly

d. government monopoly
e. natural monopoly

Answer:  E.This is the definition of a natural monopoly.
8. For a monopolist, the profit maximizing output it that output where
a. average revenue is equal to average total cost.
b. average revenue is equal to marginal cost.
c. marginal revenue is equal to marginal cost.
d. total revenue is equal to marginal cost.
Answer:  C. All profit maximizing firms find that their profit is maximized when they produce that level of output where MR = MC.
9. A monopolist’s marginal revenue is less than price because
a. In order for the monopolist to sell additional units of the good, the price charged on all units must decrease.
b. With the sale of an additional unit, the monopolist receives less revenue for each of the previous units it planned to sell.
c. Price is higher than average revenue.
d. Price is lower than average revenue.
e. both answers (a) and (b) are correct
Answer:  A. Since the monopolist faces the entire market demand curve, the monopolist can sell additional units of the good only by dropping the price on all the units of the good they wish to sell.
10. For a monopolist firm, the average revenue curve
a. starts at the same point on the vertical axis as the marginal revenue curve

b. is downward sloping
c. in the same as the demand curve

d. only answers (a) and (b) are correct.
e. Answers(a), (b) and (c) are all correct

Answer:  E. The demand curve is the average revenue curve for the monopolist and it is downward sloping and does share the y-intercept with the marginal revenue curve.
